Name Answer Key

Date

Add Numbers in Scientific Notation #1

»»>>»» Find each sum. Write your answer in scientific notation.

(4.3x10%) + (51x102) = 9.4 x 102

(7.42x106) + (1.05x108) = __ 8.47 x10°

(8.7x10%) + (3.5x10%) = 1.22x10°

(61x107) + (3.7x108) = 4.31x10°

(4.96 x108) + (5.42x10%) = _5.0142x10°

¢

6.3x10%

id

(3.6 x10%) + (2.7 x 10%) =

15x10%

@

(51x102) + (9.9x102) =

436 x10%) + (7.2x10%) = 1156 x10°

~~

(3.6 x109) + (124 x10) = __1.276 x10"

(9x10"M) + (7.36x10'%) = 9.736x10"
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